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Measures of Central Tendency & Histograms
For the following histograms, calculate the approximate mean and median and decide whether each histogram is skewed left or right based on your results.

[image: image1.png]Left-Skewed Distribution (Negatively Skewed):

These histograms have the curve on the right side or the most common values on the
right side of the distribution. The data extends much farther out to the left side. These
distributions are common where there is an upper specification limit or it is not possible
to exceed an upper value, also known as boundary limit. This may occur if a customer
has requested the process run at towards the upper specification limit as opposed to

targeting the mean.

The measure of central location is the median.

Mean < Median < Mode
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	[image: image2.png]Right Skewed Distribution (Positively Skewed):

The distribution of the data reaches far out to the right side. This may be caused by a
process having a lower boundary. Cost or time plots commonly exhibit this behavior.

The measure of central location is the median.
Mode < Median < Mean

If most common value is 10, the middle most value is 15, and the average of the data
set is 20, then the distribution is right skewed.

Mode = 10
Median = 15
Mean = 20






	Notes taken from http://www.six-sigma-material.com/Histograms.html


